MEEG 2003 Quiz #8.m18.073

1. Define a compound truss
and draw a sketch with ap-
plied loads and appropriate 2m .
supports to illustrate such a 15 kN |
truss. @ |

2. A simple truss is shown. 4.8m
Determine (a) the reaction |

F. at F, (b) the reaction A at B]

A, (c) the axial forces F., 48m

F.-, Fg, and F¢ In mem- A 3
bers EF, AF, AB, and AE. © 4

2. FBD for entire truss: ©
F- =-181+24] kN © A=3i-24jkN @

FBD for joint F: ©
FEF:26kNC® FAF:8kNC®

FBD for joint A: ©
Fe=18kNT @ F.=+61 F.=781kNT @



